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By 3% 4 F044£08 H 04 H EER ¢ 111 b (Biir)
i 4 JE Hh = Wae | %K F e T fE g2y ]
IENE AbE 10. 00| AHxf 130 1,300 1,620| 1,404 972
H X k¥ 15. 00 | ¥ 680 10, 200 756 461 54
T D FiE 10. 00 | #H%f 500 5,000| 1,048 695 11
1T NAEL E B 4. 00| FH%f 60 240 4,320 4,001| 3,834
H % i 3. 00| FHxf 208 624| 1,458 935 540
i A i L 1. 00 | FH %} 285 285 432 328 270
& | 5.00 Mixk| 4 70| 1,890| 1,659| 1,350
A w5 5. 00 | FHx} 465 2,325 1,944 1,601 864
& )| 0.50| F%f| 3,611 1,806| 162 126 86
g OBO| 0.40|#Exf| 3,180 1,272 151 133 86
= %O 4. 00| FH%f 1,112 4,448 1,620 1,126 864
[N ) 5. 00 | #H %} 145 725\ 1,350 1,076 756
g OB | 5.00[ #A%k| 1,080 5,400 1,512 1,136 756
v—< = 0. 15| FHx} 4, 290 649 65 52 49
I rell 10. 00| AHxf 500 5,000 2,160 1,596 864
_XF b= b eifEE 3. 00| FH*} 681 2,043 2,592 2,132 1, 404
fEoT & bl 0. 10| #Hx} 160 17 194 162
g B | o.00[ #A%H| 21| 42| 1,836 1,281 648

B = O JE 0. 50| FA%f 580 290 270
H i (i 5. 00| FHxf 214 1,070 2,160 1,917| 1,080
FEEnE AbiEiE 10. 00| AHxf 25 250 1,404 1,380 1,188
£ # L & 10. 00| AHxf 1, 656 16,560 2,322| 2,042 1,404
LA A £ ¥ 10. 00| FA % 1, 600 16, 000 1,188 1,017 702
P=—VLF k¥ 4, 00| FH*} 660 2, 640 1, 404 829 540
T AT F ) 0. 10| FH%f 1,738 178 216 68 49
Tayal— &k B 4. 00 | FHxF 84 336 2,430 2,334 2,268

L xon & A 4. 00 | FHxF 9 36 3,024
AEMEE (i 0. 10| #Hxf | 4, 150 415 140 101 54
ZDEH £ ¥ 0. 20 [ #H %} 300 60 66 43 21

LU £ ¥ 0. 20 [ #Hx} 150 30 59
AA ha—y £ ¥ 5. 00| FH%} 490 2, 450 1, 825 1, 392 972
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RHE A FN044£08 H 04 H EFER S 79 kv (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]
Yata— HF & 10. 00 | #H%f 1,109 11,090| 4,957 4, 406
=K w5 10. 00| AHxf 194 1,940| 7,992| 6,767| 4,968
Bk (o AL 5. 00| FH%f 305 1,525 2,484| 2,063| 1,728
B K B 0. 35| FH%f 220 77 508 458 378
B A — 3 1L 2. 00| FHxf 50 100 3,780 670
% A4 0. 50 | FHxf 1,792 896 419 393 356
/NETE K B A& 10. 00 | #H%f 229 2,290 4,644 3,614 2,484
Aava 74U ¥ | 13.00| fBxf 14 182 2,484 2,453 2,376




